KMO050B #=XY B T 5 5 WdE LA R~ B

» IERIFHE R E R SR — JNERTE

KM..5p 2R~ / Outline Dimension

KMIAIC|E| G H lhe s KE a2l L M|Ny|N,| O |P|Q| R |S|V]| kg

050B | 80|20 |144| 190.5 | 60 |40.35|70 | 4-M8"12 |45°| 87 | 85|70 | 85| 85 (10064 | B4 | 7

050C | 80| 20 (144 203 60 48 |70 4-M8*12 |[45°|B7|85|70 (85| 8.5 |100| 64 | 84 | 7 6.7

0B3B |[100| 44 | 174| 204 72 42 | B5| 7-M8*14 |45°|106 95| 80 (103| 85 |110| 80 | 102 | 8 98

075B 120/ 721205 243.5| 86 | 52.3 | 90| 7-M8"16 |45 114/115| 95 |[112] 11 [140| 93 | 119 | 10

40

40

50
0B3C [100] 44 |174| 216 72 6.5 |85 7-M8*14 |45°|106| 95| 80 (103| 8.5 [110| 80 | 102 | 8 (50| 10.6

60

60

075C 120/ 72 |205| 261.5 | 86 8.3 | 90| 7-M8"16 [45°[114/115| 95 [112] 11 [140/ 93 | 119 | 10 12.9

L0908 1140|206/ 238 | 269 103 | 63.11 100, 7-M10°22 [45° [134/130/110/[130] 13 [160.102| 135 | 11 |70| 17.6

090C.1140.201 2855 103 1911 100/ 7-M10*22 |45°1134/130/110/130] 13 1601102, 135 | 11 70, 185
_1_1_9,3_ EEB 1')7_: ] 1157 ll1n"1§ A8° 1)\E,r_“ 130144 14 200 125 1:7_: 13 SE A‘P.')
HOE-170'255 295 —390— 1275 — 10— 115 7=M10"25- 45~ 148 165130 144 14— 2001251675 13- 8550
iE: Eil (kg) TEESENMER.
Note:Weight(kg) without the weight of motor.
KM..HS 4 i R~ / Outline Dimension
U £1 KM 1 u Bl | e F1 | G1

050B|40.35| 187 | 23 | 11 |125] 4 -

050C| 4.8 (1995 23 11 [ 125] 4 —_
063B| 42 | 199 | 30 14 16 5 M6
063C| 65 | 211 | 23 11 |125| 4 —
|075B | 52.3 |237.5| 40 16 18 5 Me
075C | 8.3 | 256 | 30 14 16 5 M6
090B 63.11] 263 40 19 |25 i1 MB

(020C 119,11 279 30 14 16 5 MB.

1108l 72 13561 501 24 L o7 | 8 | e




KM..Z2vi B3R~ / Hollow Output Shaft Dimension

KM | F2 | E2 | G2 |D2,| b t

20 | 6 |228

050 | 30 | 77 | 92 | 24 | B |273

. F2 - - F2__ t 25 | 8 |283

- - 25 | B |283

— O o063 | 36 | 97 112 28 | B8 |313

ol 1 30 | 8 |333
Q' :I [ 1 28 | B |313

075 | 40 | 105 | 120 | 30

@

333

3 | 10 | 383

- E2 A 35 | 10 | 383
090 | 45 | 122 | 140 | 38 | 10 |413

G2 40 | 12 | 433

- - 40 | 12 | 433
110 | 50 | 131 | 155 | 42 | 12 | 453

45 | 14 | 483

KM..F #1 4% 2 R~ / Output Flage Dimension

..FC..FD
. Ka .
o
T >
8
ay
FE N
KQ 0
Jo | aPe
—e—=
=
4
4_
fo) : :
% +\5\Q ;
< A ke
ar r

AFE LR BRI AR ERRAR
BARAN: BE& F4H1:13661695091/13916695992
QQ:1914222621 570998234

F11%:021-60640771 15 K:021-57717695

Mik: http://www.haoguanjd.com www.shhgjdqi.com
Hibk: HE EE ST R XE R 3459 F 19 5




KM..IEC A% 2 R~t / Input Flage Dimension

FA FB FC
KM| a1 | KA| KB |KC|KM|KN,, KO KP | KQ| a1 | KA| KB|KC [KM|KN,|KO|KP |KQ| at |KA KB KC|km|KN, KO KP|KQ
05045°| 90| 9 | 5 | 85 110/45°(120 9 | 5 (85| 70|11 [125[110/45°| 89| 10| 5 |130/110|9.5/180] —
063(45°| 82| 10| 6 [150 142|45°(112 10| 6 [150/115| 11 (180[142|45°| 98 | 10| 5 [165(130| 11 [200] —
075/45°|111/ 13| 6 |165 o)l S S el el Bl el Bt
090/45°|111/ 13| 6 |175 200/45°|122| 18| 6 |215[180| 14 |250) — [45°[110 17| 6 |165/130] 11 200 —
110/45°[139/ 15| & |230 260 | | T TITIT

FD EE
k21 kel ke k™ KO ko kal a1 lka ke ke lknl ™| kol ke lka
050450791A 5115]95 111.'1“__________
068 = | | L T T T T T 45 e 81655 11301110| 14160,

45°) 82|14 |—|—1—|—]—[—=]—[—]—]—

ool 15113l 6 1175 210

o - 5 i [ ik /ratio |
75] 10| 125 | 15 [20 | 25| 30| 40| 50 | 60| 50 | 60 75 | 100|125 150| 200 | 250 | 300
KM IEC b1| 1 |51
BS |B14| B5 [B14| BS [B14 B
B c
B3B5 95— (115 — |140| — | 4 | 128 [ 5 |11 |11 1 1 e 11 111
050 71B5/B14 |110| 70 |130| 85 |160[105| 5 | 163 | 5 [ 14| 14 14 |14 |14 (141414141414 |14 4] 4| 14— |—|—|—
80BS/E14 (130 B0 [165/100{200(120| 6 | 218 | 5 |19(19] 19 |19 |19 [19|19{19|{19 (19| —|—|—|—|—|—| — | — | —
90BS/E14 |130) 95 |165/115[200|140| B | 27.3 | 5 (24|24 24 |24 |24 || 2| —|—|—|—|—|—|—|—|—|—|—| —
6385 (95| —|115| — 140/ — | 4 | 128 |5 [—|—]| — | —|—|—Jat /11|10 1/ )01t 10 191011 [11] 11
63| Z1BSB14 |10, 70 850160|105] 5 | 163 | 5 | — | —| — [14|14 (1414 /14 14| 14|14 | 14| 14|14 |14|—| — | — | —
| BOBS/E14 |130] 80 |165/100/2001120) & | 218 | 5 [19/19| 19 |19 (19(19fq0 1810 /10lielel—f—|—l—|—|—| —
QOBa/E14 [130] 35 166/115/o00/140) 8 | 273 | 8 |24 24 24 |24 lpalaalogloglog | — ] —1— 11 —1—| | | —
£385. AN ECAES LT 0 IR T-T- W I -4 ey [y [N (PR U U QRN U QU U SN N FTAETERTAETHRTCHETHACT]
| 7185|110l — 1ol — lweol =1 5 | 153l s 1l 14 qalaalgalgalqalqalqal gal4al g
075-80B5B14—3361- 8013651100 20612052385 B L L L AR LY
L Py 05 -314: 1404 & L3, 3 D A 4 4 Ao i 4 4
1801 H101215 1301250 16018313 |55 28| 2828 | 26 (28|28 28 28
T TOUTETETOT 2T ST AS &0 &0 r4:1 C-B G G0 el el el el ol el el il il el el il
[ B3B5 |95 115 30 T2 S [—= = — | — | = |— === [— == [
[ 7185 (TW0| — (T30 [T60| [ 5 | B3 |5 |—|—| — |—|—|—|—|— | % | & &d| @@ g & @ & a3
090 —gpEsETE 130 B0 0| 200 (1201 6 [ 218 [ 5 [— | —| — [ 19| 19
| S0B5B14 [130] 95 [1 TAO B [ 273 | 5 |24 | 24| 24 | 24 | El
| 100B&/B14 | 180| 110|215/ 130|250/ 160| & | 313 |55| 28 | 28| 28 | 26 | =
112B5/B14 | 180 110(215[130(250(160| B | 313 |55 28 | 28| 28 | 28
7185 (10| —|130| —|weo|— |5 636 |—|—| — [—|—[—|—|—=|—|—|—|—|1a|14|14]14] 14| 14| 14
| BoBs |30 — |65 —|200| — |6 218 |6 |—|—| — |—|—|—[—[18]19|19]19[19[18]19|19|19| 19| 19| 19
O o085 |130] — [165| — |200| — | B | 273 | & | — | —| — | 24 |24 |2¢| 24| 24| 24 |24 | o4 | 24| 24|24 | 24| 24| — | — | —
100B5/B14 | 180|110(215130{250(160] & | 313 | 6 |28 | 28| 28 |28 |28 (28|28 28|28 28|28 28| —|—|—|—|—|—|—
112B5/B14 | 180/ 110(215{130{250(160| & | 313 | 6 |28 | 28| 28 |28 |28 |28 |28 28|28 28|28 28| —|—|—|—|—|—|—
13285 230 — 265 — 300 — 10 413 6 338 38 38 38 38 38 38 38 I/ — — — — — — — - - -

AT LR EEZEENBREEERAR
BEAN: B& F41:13661695091/13916695992

QQ:1914222621

570998234

H1{5:021-60640771 £ ¥.:021-57717695
http://www.haoguanjd.com www.shhgjdqgi.com

FE B BT AL X B 3459 5+ 19 5

Ik -
Huht -



